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y=2x?-3x-2

X-intercept
Y - intercept

I Root |X-intercept |

4> "

Turning OR
Stationary Point

Intercept Form

y=dx—-a)(x-Db)

1. See if positive or negative

2. Draw in x intercepts (which are a and b)

3. Find y intercept (make x = 0)

3. Find intercepts (make x = 0 and theny = 0)

General Form y=ax?+bx+c

M
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Turning Point Form y=alx—h)?+k
1. See if positive or negative (h ) k)
Symmetry line: x=h
2. Draw in turning point (h, k)
C\/
|
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1. See if positive or negative . b

2. Draw in y-intercept S 2a

3. Find x-intercepts if there are any ~ x intercepts = _biz'+““ b
4. Find turning point 2a

discriminant: A= b* — 4ac

SKETCHING IN INTERCEPT FORM

y=(x+3)(x+1)(4-x)(x-5) y=(x+5)(x+ 2)%(x - 3)3

1. Find x-intercepts / f /\\ f /,)
by making each bracket = 0

2. Findifitis positive or negative line squared cubed

ol

3. Draw in x-intercepts

4. Find y-intercept
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Distriminant = 4 = b —44c
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